Add and Subtract Decimal Hundredths (C)

(—7.82) + 957 = 114 — 748 =
(-5.42) "+ (-1.04) = (-155) ~(~123) =
121 - 508 = (-1.05) - 043 =
(-96) - 84 = .(—-_2.43\ +(~719) =
046 - 027 = (—805) + 153 =

9.89 ~— (~3.08) 822 +(-499)

509 + (-1.08) (-617) + 531

(=143) - 008 = (-892) + 642 =
(ﬁaz.sé) - 004 = (-549) + 617 =
207 - 029 = (—4.66) +(~576) =

(~6.82) — (—4.84)

(~962) + 065
(-119) - (-0.79)
(-4.04) + (~6.54)

(-3.94) + 6.81

(- 036y - 0.01

(= 124) - 039 = 447 +(— 7.81)‘ =
(-857) + 514 = (-012) - 012 =
491 +(~505) = (-352) + 48 =
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Answer Ke\{
Add and Subtract Decimal Hundredths (C)

(—782) + 957 = +L.15 114 — 748 = —L.3Y

(-5.42) + (-1.04)

-4l (158} -(-123) = 0.3
121 - 508 =-337 (~108) - 043 = -{H3

(~98) 84 =-~18  [(-243) +/-719) = -T.bd

046 - 027 = 0.19 /--8.05% + 153 = —b.0o2
0.89 --/(-3.08) = |-A7 822 +{-4997 = *+3.93

509 +(-1.06) = 4.0  (-617) + 531 = —O.b

(—143, - 008 ==~L51  (.892) + 642 = ~R-9
2565 - 004 =-Jb  (~5497 + 617 = OO
207 - 029 = 178 (466 +(-576) = —10.42Z
(-962) + 065 =-39T [-682 ~—(—484) =%
(~119) - (~079Y =-O.4 '~394 + 681 =+d.8]1

(-404) +(-654) =-105% [-036, - 001 = ~O-31

124 - 039 =-1.b3 447 +(-781) = —3.74
-857 + 514 =-34% (-012, - o012 = -0.9
491 +(~505) = -~o.i4 -352) + 48 = [, 9%
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